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AW–2607

B.Com. (Part—I) Semester—I Examination

COMMERCE
(Principles of Economics)

Time : Three Hours] [Maximum Marks : 80
Note :— (1) ALL questions are compulsory.

(2) Figures shown at the right indicate the marks.
(3) Draw the neat and clean diagramme wherever necessary.

SECTION—A

(MCQ’s)

Write the answer of the following questions by choosing the correct alternate from those
given below :

1. The definition of economics given by Prof. Robins is related to .............

(a) Wantlessness (b) Scarcity

(c) Wealth (d) Welfare 1

2. Economic laws are related to ............ tendency.

(a) Economic (b) Politics

(c) Social (d) None of these 1

3. ............. is known as father of economics.

(a) Dr. Marshal (b) Adam Smith

(c) J.K. Mehta (d) Amartya Sen 1

4. The study of individual factor ............ carried out.

(a) Agricultural Economics (b) Micro Economics

(c) Macro Economics (d) Labour Economics 1

5. Capacity of the goods satisfying the needs of human being is called as ..............

(a) Usefulness (b) Productivity

(c) Utility (d) None of these 1

6. Giffins goods are ............. goods.

(a) Necessary (b) Luxurious

(c) Habitual (d) Inferior 1

YBC—13003 1 (Contd.)
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7. Which of the following is an exception to law of demand ?

(a) Necessary goods (b) Giffins paradox

(c) Luxurious goods (d) All of above 1

8. ............. has proposed law of diminishing marginal utility.

(a) Dr. Marshal (b) Prof. Robins

(c) Lord Keynes (d) J.K. Mehta 1

9. Elasticity of demand = .................

(a) DemandinChangesPercentile
icePrinChangesPercentile

(b) IncomeinChangesPercentile
DemandinChangesPercentile

(c) icePrinChangesPercentile
DemandinChangesPercentile

(d) None of these 1

10. .............. has proposed point method of elasticity of demand.

(a) Prof. Boumel (b) Dr. Marshal

(c) Prof. Keynes (d) None of these 1

11. Indifference curve at starting point are ............

(a) Concave (b) Round shape

(c) Convex (d) None of these 1

12. Demand for life saving drugs is ..............

(a) Elastic (b) More elastic

(c) Less elastic (d) Inelastic 1

13. Cost of producing the last unit of production is called as .............

(a) Average cost (b) Marginal cost

(c) Total cost (d) None of these 1

14. When total production is maximum at that time marginal production is ................

(a) Less (b) More

(c) Zero (d) None of these 1

15. The Iso-quants is downward sloping from ............

(a) Right to left (b) Left to right

(c) Constant (d) None of these 1

16. Internal economies related with .............

(a) Firm (b) Industry

(c) Firm and industry (d) None of these 1
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17. Expenses incurred in money are known as ..............

(a) Implicit cost (b) Real cost

(c) Explicit cost (d) None of these 1

18. Long term average cost curve is of ................ shape.

(a) M (b) W

(c) C (d) U 1

19. Followings are the types of revenue :

(a) Marginal Revenue (b) Average Revenue

(c) Total Revenue (d) All of above 1

20. Total Revenue = ................

(a) Number of Unit Sold×Price of Commodity (b) itymodComoficePr
SoldUnitofNumber

(c) SoldUnitofNumber
itymodComoficePr

(d) None of these 1

SECTION—B

Write the answer of the following questions in short :

1. (a) Explain the definition of Economics by J.K. Mehta. 4

OR

(b) State the demerits of Micro Economics. 4

2. (a) What is meant by Utility ? 4

OR

(b) Explain the exceptions of law of diminishing Marginal Utility. 4

3. (a) Explain the importance of elasticity of demand. 4

OR

(b) Explain the concept of Indifference Curve. 4

4. (a) Explain internal economies. 4

OR

(b) State the characteristics of Iso-quants. 4

5. (a) State the types of Cost. 4

OR

(b) Explain the meaning of Revenue. 4
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SECTION—C

Write the answer of the following questions in detail :

1. (a) State the characteristics of economic laws and explain its importance. 8

OR

(b) State the meaning of macro economics and explain its merits. 8

2. (a) Explain in detail law of equi-marginal utility. 8

OR

(b) Explain the law of demand with example and diagram. 8

3. (a) What is meant by price elasticity of demand ? Explain types of price elasticity of
demand. 8

OR

(b) Explain the various measuring methods of elasticity of demand. 8

4. (a) Explain the law of variable proportion. 8

OR

(b) Explain external economies and diseconomies. 8

5. (a) Explain the long run average cost curves with the help of diagram. 8

OR

(b) Explain the types of revenue. 8
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AW–2607

B.Com. (Part—I) Semester—I Examination

COMMERCE

(Principles of Economics)

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ekè;e½
lwpuk :—(1) loZ iz’u vfuok;Z vkgsr-

(2) mtohdMs n’kZfoysys vkÑrh xq.k n’kZforkr-

(3) vko’;drkuqlkj lkQ o lqUnj vkÑrh dk<k-

foHkkx—v

¼cgqi;kZ;h iz’u½

[kkyhy iz’ukaph mÙkjs ;ksX; i;kZ; fuoMqu fygk %

1. izks- jkWfcUl ;kaph vFkZ’kkL=kph O;k[;k ------------- ’kh lacaf/kr vkgs-

(v) xjtkfofgurk (c) nqfeZGrk

(d) laiÙkh (M) dY;k.k 1

2. vkfFkZd fu;e gs ------------------ izo‘Ùkh’khlacaf/kr vlrkr-

(v) vkfFkZd (c) jktdh;

(d) lkekftd (M) ;kiSdh ukgh 1

3. ------------------ ;kauk vFkZ’kkL=kps tud Eg.krkr-

(v) MkW- ek’kZy (c) vWMe fLeFk

(d) ts- ds- esgrk (M) veR;Z lsu 1

4. oS;fDrd ?kVdkaps v/;;u ------------- e/;s dsys tkrs-

(v) Ñ"kh vFkZ’kkL= (c) lw{e vFkZ’kkL=

(d) LFkwy vFkZ’kkL= (M) Jekps vFkZ’kkL= 1

5. oLrqe/;s vl.kkjh ekuokph xjt iw.kZ dj.;kph {kerk Eg.kts ------------- gks;-

(v) mi;qDrrk (c) mRikndrk

(d) mi;ksfxrk (M) ;kiSdh ukgh 1

6. fxQsu oLrw Eg.kts ------------ oLrw gks;-

(v) thouko’;d (c) pSuhP;k

(d) loFkkZP;k (M) dfu"B izrhP;k 1
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7. [kkyhyiSdh dks.krh ckc ekx.khP;k fu;ekyk viokn vkgs \

(v) thouko’;d oLrw (c) fxQsupk fojks/kkHkkl

(d) izfr"BsP;k oLrw (M) ojhy loZ 1

8. ?kVR;k flekar mi;ksfxrspk fu;e ------------ ;kauh ekaMyk vkgs-

(v) MkW- ek’kZy (c) izks- jkWfcUl

(d) ykWMZ dsUl (M) ts-ds- esgrk 1

9. ekx.khph yofpdrk = .............

(v)
cny dMksk’ ekx.khrhy
cny dMksk’ fdaerhrhy

(c)
cny dMksk’ mRiUukrhy

 cny dMksk’ ekx.khrhy

(d)
cny dMksk’ fdaerhrhy

 cny dMksk’ ekx.khrhy
(M) ;kiSdh ukgh 1

10. ekx.khP;k yofpdrk eki.kkph fcanw i)r ----------------- ;kauh ekaMyh-

(v) izks- ckWesy (c) MkW- ek’kZy

(d) izks- dsUl (M) ;kiSdh ukgh 1

11. rVLFkrk oØ gs vkjaHk fcanwyk --------------- vlrkr-

(v) varxksZy (c) xksykdkj

(d) cfgxkZsy (M) ;kiSdh ukgh 1

12. thou okpfo.kkÚ;k vkS"k/kkaph ekx.kh -------------- vlrs-

(v) yofpd (c) tkLr yofpd

(d) deh yofpd (M) vyofpd 1

13. ’ksoVP;k oLrwP;k mRiknu [kpkZyk ---------------- Eg.krkr-

(v) ljkljh [kpZ (c) flekar [kpZ

(d) ,dw.k [kpZ (M) ;kiSdh ukgh 1

14. T;kosGh ,dw.k mRiknu lokZf/kd vlrs R;kosGh flekar mRiknu --------------- vlrs-

(v) deh (c) tkLr

(d) ’kwU; (M) ;kiSdh ukgh 1

15. lemRiÙkh oØkpk mrkj --------------- vlrks-

(v) mtohdMwu MkohdMs (c) MkohdMwu mtohdMs

(d) fLFkj (M) ;kiSdh ukgh 1

16. varxZr cprh ------------- ’kh lacaf/kr vlrkr-

(v) is<h (c) m|ksx

(d) is<h o m|ksx (M) ;kiSdh ukgh 1
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17. eqnzs e/;s dsY;k tk.kkÚ;k [kpkZyk ------------ Eg.krkr-

(v) vekSfnzd [kpZ (c) okLrfod [kpZ

(d) ekSfnzd [kpZ (M) ;kiSdh ukgh 1

18. nh?kZdkyhu ljkljh O;; oØ ------------ vkdkjkpk vlrks-

(v) M (c) W

(d) C (M) U 1

19. [kkyhyiSdh izkIrhps izdkj vkgsr %

(v) flekar izkIrh (c) ljkljh izkIrh

(d) ,dw.k izkIrh (M) ojhy loZ 1

20. ,dw.k izkIrh = ....................

(v) foØh dsysY;k uxkaph la[;k × oLrwph fdaer (c) fdaer oLrwph
kla[;  uxkaphkdsysY; foØh

(d)
kla[; uxkaphkdsysY; foØh

fdaer oLrwph
(M) ;kiSdh ukgh 1

foHkkx—c

[kkyhy iz’ukaph FkksMD;kr mÙkjs fygk %

1. (v) ts-ds- esgrk ;kaph vFkZ’kkL=kph O;k[;k Li"V djk- 4

fdaok

(c) lw{e vFkZ’kkL=kps nks"k lkaxk- 4

2. (v) mi;ksfxrk Eg.kts dk; \ 4

fdaok

(c) ?kVR;k flekar mi;ksfxrk fu;ekps viokn Li"V djk- 4

3. (v) ekx.khP;k yofpdrsps egRo Li"V djk- 4

fdaok

(c) rVLFkrk oØkph ladYiuk Li"V djk- 4

4. (v) varxZr cprh Li"V djk- 4

fdaok

(c) lemRiÙkh oØkph oSf’k"Vîs lkaxk- 4

5. (v) [kpkZps izdkj lkaxk- 4

fdaok

(c) izkIrhpk vFkZ Li"V djk- 4

YBC—13003 7 (Contd.)
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foHkkx—d

[kkyhy iz’ukaph mÙkjs lfoLrj fygk %

1. (v) vkfFkZd fu;ekaph oSf’k"Vîs lkaxwu egRo Li"V djk- 8

fdaok

(c) LFkwy vFkZ’kkL=kpk vFkZ lkaxwu R;kps xq.k Li"V djk- 8

2. (v) leflekar mi;ksfxrk fu;e lfoLrj Li"V djk- 8

fdaok

(c) ekx.khpk fu;e mnkgj.k o vkÑrhP;k lgk¸;kus Li"V djk- 8

3. (v) ekx.khph fdaertU; yofpdrk Eg.kts dk; \ ekx.khP;k fdaertU; yofpdrsps izdkj lkaxk- 8

fdaok

(c) ekx.khP;k yofpdrk eki.kkP;k fofHkUu i)rh Li"V djk- 8

4. (v) cnyR;k izek.kkpk fu;e Li"V djk- 8

fdaok

(c) cká cprh o vcprh Li"V djk- 8

5. (v) nh?kZdkyhu ljkljh O;; oØ vkÑrhP;k lgk¸;kus Li"V djk- 8

fdaok

(c) izkIrhps izdkj Li"V djk- 8

YBC—13003 8 (Contd.)
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B.Com. (Part—I) Semester—I Examination

COMMERCE
(Principles of Economics)

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ekè;e½
lwpuk :—(1) lHkh iz’u vfuok;Z gSaA

(2) nkbZa vksj n’kkZbZ vkÑfr vad bafxr djrh gSA

(3) vko’;drkuqlkj lkQ o lqUnj vkÑfr cukb;sA

foHkkx—v

¼cgqfodYih iz’u½

fuEufyf[kr iz’uksa ds mÙkj ;ksX; i;kZ; pqudj fyf[k;s %

1. izks- jkWfcUl dh vFkZ’kkL= dh ifjHkk"kk ------------- ls lacaf/kr gSA

(v) vko’;drk fofgurk (c) nqyZHkrk

(d) laiÙkh (M) dY;k.k 1

2. vkfFkZd fu;e ;g euq"; ds ------------------ izo‘fÙk ls lacaf/kr jgrs gSaA

(v) vkfFkZd (c) jktdh;

(d) lkekftd (M) buesa ls ugha 1

3. ------------------ budks vFkZ’kkL= ds tud dgrs gSaA

(v) MkW- ek’kZy (c) vWMe fLeFk

(d) ts- ds- esgrk (M) veR;Z lsu 1

4. oS;fDrd ?kVdksa dk v/;;u ------------- esa fd;k tkrk gSA

(v) Ñf"k vFkZ’kkL= (c) lw{e vFkZ’kkL=

(d) LFkwy vFkZ’kkL= (M) Je vFkZ’kkL= 1

5. oLrqvksa esa jgusokyh euq"; dh vko’;drkvksa dks iwjk djus dh {kerk ;kus -------------- gSA

(v) mi;qDrrk (c) mRikndrk

(d) mi;ksfxrk (M) buesa ls ugha 1

6. fxQsu oLrq ;kus ------------ oLrq gSA

(v) thou;kiu (c) vkjkenk;h

(d) vknrh; (M) dfu"B Lrj 1

YBC—13003 9 (Contd.)
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7. uhps nh xbZ dkSulh ckc ek¡x ds fl)kar dks viokn gS \

(v) thou;kiu oLrq (c) fxQsu dk fojks/kkHkkl

(d) izfr"Bkn’kZd oLrq (M) mijksDr lHkh 1

8. Ðkleku lhekar mi;ksfxr fl)kar -------------- bUgksaus izLrqr fd;k gSA

(v) MkW- ek’kZy (c) izks- jkWfcUl

(d) ykWMZ dsUl (M) ts-ds- esgrk 1

9. ek¡x dh yksp = .............

(v)
ifjorZu krizfr’ esa xek¡
ifjorZu krizfr’ esa dher

(c)
ifjorZu krizfr’ esa vk;
ifjorZu krizfr’ esa xek¡

(d)
ifjorZu krizfr’ esa dher
ifjorZu krizfr’ esa xek¡

(M) buesa ls ugha 1

10. ek¡x dh yksp ekiu dh fcanq i)fr ----------- bUgksaus izLrqr dhA

(v) izks- ckWesy (c) MkW- ek’kZy

(d) izks- dsUl (M) buesa ls ugha 1

11. mnklhurk oØ vkjaHk fcanq esa ---------------- jgrs gSaA

(v) varxkZsy (c) xksykdkj

(d) cfgxkZsy (M) buesa ls ugha 1

12. thou nsgh nokbZ;ksa dh ek¡x --------------- jgrh gSA

(v) yofpd (c) vf/kd yofpd

(d) de yofpd (M) vyofpd 1

13. vafre oLrqvksa dh mRikn O;; dks ------------- dgk tkrk gSA

(v) ljkljh O;; (c) lhekar O;;

(d) dqy O;; (M) buesa ls ugha 1

14. tc dqy mRikn vR;kf/kd gksrk gS rc lhekar mRikn -------------- jgrk gSA

(v) de (c) T;knk

(d) ’kwU; (M) buesa ls ugha 1

15. lemRikn oØ dk <ky ----------- jgrk gSA

(v) nk;sa ls ck;sa (c) ck;sa ls nk;sa

(d) fLFkj (M) buesa ls ugha 1

16. varxZr ferO;;rk ----------------- ls lacaf/kr gSA

(v) is<h (c) m|ksx

(d) is<h ,oa m|ksx (M) buesa ls ugha 1

YBC—13003 10 (Contd.)
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17. eqnzk esa fd;s tkus okys O;; dks -------------- dgk tkrk gSA

(v) xSjekSfnzd O;; (c) okLrfod O;;

(d) ekSfnzd O;; (M) buesa ls ugha 1

18. nh?kZdkyhu vkSlr O;; oØ ----------------- vkdkj dk jgrk gSA

(v) M (c) W

(d) C (M) U 1

19. fuEufyf[kr esa ls izkfIr;ksa ds izdkj gSa %

(v) lhekar izkfIr (c) vkSlr izkfIr

(d) dqy izkfIr (M) mijksDr lHkh 1

20. dqy izkfIr = ....................

(v) foØ; dh xbZ ux la[;k × oLrq dh dher (c) dher dh oLrq
kla[;  uxxbZ dh foØ;

(d)
kla[;  uxxbZ dh foØ;

dher dh oLrq
(M) buesa ls ugha 1

foHkkx—c

fuEufyf[kr iz’uksa ds mÙkj laf{kIr esa fyf[k;s %

1. (v) ts-ds- esgrk budh vFkZ’kkL= dh ifjHkk"kk fo’kn dhft;sA 4

vFkok

(c) lw{e vFkZ’kkL= ds nks"k crkb;sA 4

2. (v) mi;ksfxrk ;kus D;k \ 4

vFkok

(c) Ðkleku lhekar mi;ksfxrk fl)kar ds viokn fo’kn dhft;sA 4

3. (v) ek¡x dh yksp dk egRo fo’kn dhft;sA 4

vFkok

(c) mnklhurk oØ dh ladYiuk fo’kn dhft;sA 4

4. (v) varxZr ferO;;rk fo’kn dhft;sA 4

vFkok

(c) lemRikn oØ dh fo’ks"krk,a crkb;sA 4

5. (v) O;;ksa ds izdkj crkb;sA 4

vFkok

(c) izkfIr dk vFkZ fo’kn dhft;sA 4

YBC—13003 11 (Contd.)
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foHkkx—d

fuEufyf[kr iz’uksa ds mÙkj foLrkj ls fyf[k;s %

1. (v) vkfFkZd fu;eksa dh fo’ks"krk,a crkdj egRo fo’kn dhft;sA 8

vFkok

(c) LFkwy vFkZ’kkL= dk vFkZ crkdj mlds xq.kksa dks Li"V dhft;sA 8

2. (v) lelhekar mi;ksfxrk fl)kar foLrkj ls fo’kn dhft;sA 8

vFkok

(c) ek¡x dk fl)kar mnkgj.k ,oa js[kkfp= }kjk fo’kn dhft;sA 8

3. (v) ek¡x dh dher yksp ;kus D;k \ ek¡x dh dher yksp ds izdkj crkb;sA 8

vFkok

(c) ek¡x dh yksp ekiu dh fofHkUu i)fr;ksa dks fo’kn dhft;sA 8

4. (v) ifjorZu’khy vuqikr fl)kar fo’kn dhft;sA 8

vFkok

(c) cká ferO;;rk vkSj vferO;;rkvksa dks fo’kn dhft;sA 8

5. (v) nh?kZdkyhu vkSlr O;; oØ js[kkfp= dh lgk;rk ls fo’kn dhft;sA 8

vFkok

(c) izkfIr ds izdkj fo’kn dhft;sA 8
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